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vote: Write answers to the questions on objective answer sheet provided. Four possible answers A,
B, C & D to cach question are given. Which answer you consider correct, fill the
corresponding circle A, B, C or D given in front of each question with Marker or pen ink on
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" ' , Taste +4 (B)
- Price od (D)

Dccreasc_s ‘cdbn{ (B)
Becomes zero «-(Jbx* (D)

On Industry y=>* (B)
On Construction {b"«lﬁp (D)
The sum of ﬁxed‘cost and variable cost is:
Marginal cost JJW?:\? (B)
;I‘otal fixed cost .J;L-?f;g*gf (D)

The supply of land is:
| Marginal 7 (D) Fixed 12~ (C)
| The reward of labour is called:

Profit (’jl? (D) Interest 3~ (C)

The national income measuring methods are:
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. is/are included in balance of payments.
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Services =& (B)
| Visible & invisible goods Il 2 E s, (D)
During deflation the value of money:

Decreases z{.dgvx( (B)

| Remains same & (%G (D)

The tay imposed on imports and exports is called:

Income tax Lfgd,&l’ (B)

The cause of expansion and contraction in supply is:

The law of increasing return is applicable on:
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Population ~ (54T (A)

Custom & tradition &l - (C)
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When demand & supply increases in equal rate then equilibrium price:

Increases é"-—dl.?vﬁf (A)

Remains same Jruif)f}/q_ﬁ’)d: (&) -
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On Agriculture z=#Lj (A)
On Trade 4.:.dlf (®)
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Total cost e (A)
Average cost ekl (C)
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Wages =71 (B) Rent ¥ (A)
R LD A AL
02 (B) 01
:u‘;'&»}Jl}")'.'gE:blqu}"

Visible goods ;1_/""(}/ (A)
Profit = L&t (C)
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Rises ‘L.(:;L]b‘/. (A)

Becomes zero q__GL_m}" (©)
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Sales tax J"C/L’ (A)

Property tax Jg;iglg (©)
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The rise and fall of economic activities is called: ‘e r‘!k{ﬁt’z’ﬁéu‘f)}m {4

Deflation ik ¥ (B) Inflation J35171 ()
World recession c)f/‘-ull; (D) Trade cycle /gd"; (© ?
The duration of public budget in Pakistan is: :f'r’ffb”bf"""‘%‘“ﬂuuﬁ R ;5
Five years Jl/ég (D) Three years JL-cZ (C) Twoyears Jis (B) One year Jufi (a)
‘ The founder of classical school of thought was: !WGW){-_—"!LELK 13
Peigou &% (D) Robbins A, (C) Marshall S (B) Adam Smith S7L1 (a).
The quantity demand is a function of: ‘ "‘LJ‘@J"L‘:’ ~14
Profit €0t (D) Consumption ¥~ (C) Pricc =4  (B) S.aving k=5 (A)
When total utility declines then marginal utility goes: 5?-t”"B'FJ;‘?'t):’G'J&4 -15
| Minimum et (B) - Maximum & Erasticnbs (A)
Positive < t»=? (D) - Negative &£ (C)
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Write short Answers of any six parts from the following. ,

What is meant by consumption of wealth? - s ?LJ’/kré—d')JJJ/ (i)
e t'!l:f.'.')u...:/s} UZL/ @){&b‘]a&u/‘.’ﬁﬁ,ﬁu (T o Vit )J(:‘(:Jm’/c C TR R
Consumption of wealth refers to how wealth is spent. The part of wealth that we spend on

necessities of life is called consumption of wealth. ‘

What is meant by normative science? 5 ?‘a:l/g;,.:.‘wfﬁ - (ii)

br.z}[lbégtxuzﬂfé_lgkgﬂ.jgﬂlf_@L@QLDQ,JUJG__QJ(&GM:. Vo m (f.:arbu)l/c.;ﬂ ?Q'ﬂ
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It refers to the science in which situation and events are examined from a particular perspective and it

is decided that they should be like this, for example. There should be happiness instead of poverty,

every individual living in the country should be provided with bread, clothing and accommodations
instead of imperialism, there should be democracy in the society.

What is meant by new classical fchool of thought? _ vél'/bfr_)‘._}(&lﬁ: (iii)
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To remove the flaws left in the definition of economics by Adam Smith Dr,.[\'f.mrsha}[-dcﬁncd

economics a new and called him the founder of neo-classical thought, According to Dr Marshall
economics is the science of material well-being, which studies how to obtain and use materid

necessities for a prosperous life. ' .
~EOWGpLL S LS @)

Differentiate between expansion and contraction of demand. ‘
e sl b b 2 b bt Qbot e M Uie Sond 3 §2 o L ( bude v
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Due to the law of demand, when the price of a commodity d i , s
eCreases i ses, 1!
- , its demand increases, ' 2
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called e\panslon of dcmand thruae l)uc to the law of demand, when the pnce of a commodlty

jncreases, its demand dccrcascq it is called a contraction of demand.
write the formula of point elasticity of dems LAy . /
y of demand. '-E':{/Ur‘/bb’ug&mu(_ru' (v)

ormula: R o v y 21 ’
F AP q . | E, ap I el

_42_)‘/)&"3&-4(!}/1 (vi)
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Elasticity of supply refers to thc rate of change in the supply of a good that occurs due to ¢hange in

?c_)/gc,fl/’d})f'} (vii)
_c.t'lpbfvfdﬁlﬂfulwar:igfdy/dﬂifdégfl/lfi (AR

The commodities whose substitutes are available in the market they are called substitute goods.

y -éybsd’/ﬂLUJULQJb (viii)
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When the consumer spends his limited money on various goods in such a way that he gets maximum

utility from those goods, then is called consumer equilibrium.

Explain the conccp( of elasticity of supply.

i the pncc of goods.

What is meant by substitute goods?

Explain the concept of consumer equilibrium,

What is meant by zero utility? ?:_:/Lfc.ub/‘ (ix -
—e bl pubtie sz QLU A S PATD /J;_,,tc_wd/ymbfuf L?JL/.J//;.Q’L) T

When the desire to consume a commodity is completely satisfied and no desire to consume the mors
items, then utility becomes zero. :

6x2=12 g fen L e Y s
Write short Answers of any six parts from the followmg

Define costs of production. - L= /J/J F' gt/ (i)
mf_uw/'fuf,w,w&u%WLIJMJJL»KJ’U}M,’J wv&;’wduu’(/df T
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If a firm owns the factors of production and uses them in business, then the remuneration of these
factors is called |mpllcn costs. Implicit cost includes compensation of the owner of the firm for his

* own labour, interest on his own capital, rent on his land and profits of the organization etc.

What is meant by opportunity costs? el /I.»Q'....JJWJJV (ii)

fwa‘_L.»./Jw)J dt-figff;u’(/ b e S i Jtcf}(_ﬂm e A IR
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Opportunity costs refers to the amount pald to divert a factor from an exchange use to a specific use

necessarily. : ' o -
Y _u,/Gt.Jvm#&dm(‘i,ldf,»,lcﬂidﬂmtgl (iii)
Draw average and marginal revenue curves under monopoly. T
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Make a schedule of law diminishing return. -c__hu’rfﬁ}’bg}twu:’ﬁ' (iv)
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Why. is law of diminishing return called law of increasing cost? )
SEitd i Lz $0d e ¥ g e bl Sk s s ol
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When production process is under law of diminishing return, the mzxrgmal product falls and Per unj;
marginal costs increase. That's why law of diminishing return is also called law of increasing cogts.
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What is difference between normal loss and abnormal Ioss"
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Normal foss: A firm is meeting its variable cost and partially mecting fixed cost when portion of
fixed cost is mcurred as a loss if it bears, then this loss is normal loss.

L (/cf’-a Ostelz & S L (feile dre oSl uﬂy[.(/u uwdy“/
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Abnormal loss: It is a situation of cqulllbnum of the firm in which the price is equal to the avcrage
variable costs of the firm i.e. Only the variable costs of the firm are covered and the loss of the firy
is equal to the total fixed cost, this losv. is called abnormal Ioss .

Does a monopolist firm always earns s abnormal profit? d'-rdvd’y//{f/’”’“"’l’r (vii)
L/J»-’,_,-’uL,c_uL,Jauuuuulfr_ww,"mb,'uz_’_mt/t/u“,lb»((/»'u{?U“dzbuw IR
Py Ty

In a monopoly, the employer does not have to compctltlon with another firm, So, it is generally
assumed that the monopolist can charge the maximum price for its product earns abnormal profit.

What is meant by factors pncmg" Yf_: /b(;d»(:{,}“ (viii)
1)':}’(4_-L/‘u/7fJ"° :uﬁ‘.ﬁb*b/u"/-c.d/(‘du"u’JVA:U’J»A’U‘L/}//’U'J’fjln(x’» N4
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Wealth is created by four factors and wealth is distributed among these four factors. Land
compensation, labour wages, interest on capltal and the profit of the organization is given this is
called the theory of factors pricing. .

Define the modern theory of factor pricing. ;d/.ﬂfg;,/g‘g.‘gﬁuf,b»ﬁ‘flg‘fkb (ix)
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The theory of factor pricing suggests that the individual costs for each factor must be considered
when calculating prices for a preduct or service.
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Write short Answers of any six parts from the following:
Describe Gross Domestic Product. -d/ubrf(/bu;tg’b (i
Mshae ‘,P‘ru{.JdeutJu'u*z-/' Juwl._,tpul/ld‘(d"&)w:uu,,gj‘)p,ﬁ,w&._ﬁu/ i

Jld.’/'udb - Jljfyd,’rb L J"U’Ugrt’ uol
All goods and services consumcd by the people of a country during the year within the country’ theif
- market value is called gross domestic product.
* Net National Product = Gross National Product - Net Foreign Income

What is meant hyvtransfer payments? ?cJ/U’.:..UzF’J'dM (ii)
J‘ I/:QJ/J‘UJ:U’JJKAJZ_LVU‘GMJ'IbéJf”ff‘f}uodrythuubﬁg,ldw o
_p/!J b’/!'))”

Transfer payments arc the amounts that.a person recejves witho

en
. . . ut w nemploy™
allowance, zakat, charity, pension, stipend and gifts etc. “uking fiaee, ko NARAD
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pescribe money in the words of Prof. Crowther. -dfuy._ﬂ/"&)‘ﬂj. Ufﬁ/,bf/",/ (.,.)
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Each of the thing is called a money which is generally accepted as a medium of exchange and which
also resources as a measure of value and store of value.

‘

piscuss four effects of inflation. - -l/_/:ﬂ&tb'}b(;ﬁu'}'/’.' @iv)
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1. Increase in the demand of goods 2. Increase in population

3. Increase in the quantity of money 4. Increase in costs of production ,

Write names of phases of a trade cycle. .y [rtﬁﬁ,,l[,,‘ d/({.ﬁ )

A business cycle has the following four phases: 0P m's:bgd_ ;(-,;;L/G._. Gl oz

S -4 SaneS 3 die -2 Siksy -1
1. Depression 2. Recovery 3. Boom " 4. Recession
Describe international trade. ' -e{ubp#‘ K I (vi)

-u‘(‘_'.(._ub’dfiulu’fujb’dbgrulﬁ:&u:yLLJVM: HE ) 4

The trade between the residents of two different countries is called international trade.

What is meant by balance of payments" g ?"—J’/Lfé‘.—‘F blu;l; (vii)

F It Vubf.,u wd//,d/(um,u !/é//;d/rle:Lru’d_/[_ JuLid, gftd el
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A country's balance of payments accounts for all tangible and intangible exports and all tangible and
intangible 1mports in a year is called balance payment.

Differentiate between public and private finance. -Q’fugu.)uﬂoyt&:d/b’/ (viii)‘

- b WEI UL e AT IS e bra = A3 T e PP e UK o l?
The concern of government revenue and expenditure is called public finance whereas the study of
accounting of income and expenditure of individuals is called private finance.

Describe the canons of taxation stated by Adam Smith. - -/ bdr’lﬁdgu/@laﬁﬁ“r}l (ix)

WUt 4 el 3 K 2 ehldrt -1 iz
L. Canor of Equality 2. Canon of Certainity
3. Canon of Convenence 4. Canon of Economy
((».4?)
3x8=24 S fe Mzl rfe $e S5t g

Note: Answer any three questions from the following.
‘ -J /r‘/é '51:’01’?!;’/):.«? U;J_‘J’uiU 5
Explain the law of demand with the help of schedule and diagram.

Hrtpa Bt Fiadm S i SpeiL o [

Analyze average revenue, total revenue and marginal revenue with schedule and
diagram of a firm under perfect competition.

-é’:..«?Lo)Ju;’n"uUGJ(JUJULJ’GJ/L(‘/JJJVJJng)‘; m

EXplam any two types of equilibrium conditions of a perfectly competitive firm,

in short run. | e
e oot

Explain in detail the quantity Theory of Money. 3
Differentiate between Zakat and Tax. -g‘,-': yU:JJ/LﬂJng?fJ 90
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